
1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

16

17

18

19

20

21

22

23

Pos. Anzahl Eratzteilnummer Ersatzteilname

1 2 BBKSM201 Sechskantschraube M8 x 16

2 1 BBKSM202 U-Scheibe 4.3 x 12 x 1.6

3 1 BBKSM203 Rändelschraube

4 1 BBKSM204 Grundtraverse

5 2 BBKSM205 Anschlagklemme

6 1 BBKSM206 Stabilisator

7 1 BBKSM207 Spitzschraube

8 1 BBKSM208 Bügelgriff

9 1 BBKSM209 Handknopf

10 2 BBKSM210 U-Scheibe 6.4 x 17 x 3 

11 6 BBKSM211 Senkschraube M6 x 16

12 1 BBKSM212 U-Scheibe 6.4 x 12 x 1.6 

13 2 BBKSM213 Seitenwelle

14 1 BBKSM214 Anschlagplatte

15 1 BBKSM215 Mutter M6

16 6 BBKSM216 Handschraube M6

17 2 BBKSM217 Führungswelle 

18 1 BBKSM218 Justiergewinde

19 1 BBKSM219 Schutzplatte

20 4 BBKSM220 Holzschraube 4x20

21 2 BBKSM221 Druckfeder

22 2 BBKSM222 Sechskantschraube M8 x 22

23 2 BBKSM223 Senkschraube M8 x 20

Grundgestell KSM Artikel Nr. BBKSM2


	Ersatzteilliste KSM 100 (2).pdf

